
 W W W . T C Y O N L I N E . C O M  

_________________________________________________________________________________ 

_________________________________________________________________________________________________ 
                    For free online MOCK CATs, login to www.tcyonline.com  Page : 1

 

STRATEGIES TO TACKLE VERBAL ABILITY SECTION 
 

In the Verbal Ability section the language is not difficult; the questions have become more reasoning based. 

Now, we need to think logically rather than mechanically. 

 

Strategies to tackle RC: 

Regarding RC, the mantra is, 'catch the main argument of the passage.' 

There is no doubt that RC is time-consuming. However, it is not always so if a student is well aware of 

proper strategy and technique. While skimming, simultaneously go through the questions. At times, you will 

come across a question that is linked to something you just read in the previous paragraph.  

 

The underlining process relieves you from storing or memorizing everything you read. After reading the 

questions, you can go back to the passage, refer to the underlined areas and mark the correct answer. 

 

You can also take the help of transitional key words, such as Moreover, Besides, Furthermore, that support the 

passage or the author's view. Words such as However, Although, But, on the other hand, are against the flow. 

Finally, words like Hence, Thus, and Therefore are conclusions, and can be easily spotted in the final 

paragraphs or at the end of the passage. To prevent confusion, it is better to encircle these words so as to 

locate them easily when referring to the passage.  

 

The test-makers also use language traps that can hurt your score. For example, a period of two years 

mentioned in the passage is referred to as 24 months in the question; or, the passage mentions a distance in 

miles while the question uses kilometers. So stay alert and keep a hawk's eye for these traps. 

 

While taking the CAT, do not try to attempt every RC question, particularly if you are not sure of the answer, 

since this will attract negative marking and hurt your score.  

 

If there are a number of RC passages and students can afford to skip some passages and/or questions, the 

best way for average students to complete the RC section is by using one of two strategies -- Some Questions 

from All Passages (SQAP) and All Questions from Some Passages (AQSP). With SQAP, you should 

not attempt questions with options such as None of these, All of these, Except, Least Agree, Least Disagree, 

True and Not True. These are the most difficult RC questions and should be avoided .in the first round. 

Instead, answer the direct questions that, most of the time, are given in inverted commas. After answering all 

the direct questions in a passage, move on to the next one. In case you find passages that give only direct and 

specific information questions, you can immediately change your strategy and go for 'All Questions from 

Some Passages' (AQSP). With this strategy, you answer all the questions from the passages with direct 

questions, while avoiding the passages that have the most indirect questions. 



 W W W . T C Y O N L I N E . C O M  

_________________________________________________________________________________ 

_________________________________________________________________________________________________ 
                    For free online MOCK CATs, login to www.tcyonline.com  Page : 2

 

For answering inference based questions, PROCESS OF ELIMINATION is the best strategy; remember any 

direct statement given in the options is never an answer for inference based questions. 

Following these tips will help you earn the top possible marks and avoid a lot of stress. 
 

Strategies to tackle some other Verbal Ability questions: 

 

PARAJUMBLES 
 

Directions for questions 1 – 3: Rearrange statements A to D in coherent order. 

1. 1. Early in the 1970s we thought of the idea of satellite communication in order to spread  

  education.  

  A. The IIM, Kozhikode, Kerala, launched the Interactive Distance Education Programme in 2002.   

B. Using satellite based infrastructure it delivers real time live education to all participants by high 

quality video/audio and data delivered multimedia mode.    

C. This was one of the largest experiments of its kind in the world using a satellite.  

D. The Satellite Instructional Television Programme was transmitted through an American satellite 

ATS – F launched by NASA.  

6. Specific management courses would be simultaneously transmitted to several centres in India 

from a classroom in Calicut, with the help of telecommunication and satellite television 

transmission.  

 (1) DBCA   (2) DCAB   (3) ACDB   (4) BACD  

Sol. Look for pairs DC & AB. The combination is present in the 2nd option only. Many a time options play a 

 vital role in such cases. 

 

2. 1. “Too often,” as Bergson has said, “when philosophy faces the problems of the origin, nature, and 

  destiny of man, it bypasses them in order to deal with questions which it regards as prior, and 

  upon which the solutions of the more pressing problems are said to depend.  

  A. Before searching for the solution of anything, we are told that we must know exactly what it is to 

  search.  

 B. Whence do we come? What are we? Whither do we go? 

  C. Study the mechanism of your thinking apparatus, analyze your knowledge, and criticize your 

  criticism of it.  

D. Those are the vital issues which we would face at once if we philosophized without bothering 

  about the traditional philosophic systems. But an over-systematic philosophy interposes a whole 

  host of other problems between those issues and ourselves.  

6. Once you have assured yourself of the worth of the instrument, then you will see how to use it 

  properly. But alas, that moment never comes.” 

  (1) ABCD   (2) ACDB   (3) CBAD   (4) BDAC 
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Sol. Read the statements carefully and go through the options. B D makes a pair and so is AC.  

  Option 4 has both. 

 

3. A. In use, the company says that the FIT format uses only a single image file for both thumbnail and 

  full-size image creations and supports spatial scaling of displayed images and a variety of colour 

  models. 

B. File Flow has developed, what the company claims, a new ultra - efficient file compression  

  system for the transmission of digital camera files, as well as for use in desktop publishing and 

  document flow systems. 

C. The Norwegian firm's technology is based around Java and allows massive file compression. The 

company says that a typical 37 megabyte (MB) file image will compress down to just 600 

kilobytes (KB) using its system, allowing the file to transfer in under two minutes across a 56 

kilobits-per-second (K-bps) modem connection. 

D. File Flow says its compression technology is the result of more than 10 years of academic 

research to develop the ultimate still-image compression format. Using the fast image transfer 

(FIT)  format, the firm, produces significantly smaller file sizes than the equivalent JPEG (Joint 

photographic experts group) file - requiring significantly less disk space, dramatically reducing 

download time, bandwidth cost and server loads. 

  (1) ABCD       (2) DBCA       (3) BCDA   (4) BACD 

Sol. The best clue is statement-D; it speaks of FIT. A follows, beginning with “in use”. Now look for the 

option that has the combination. Option (3) only. 

One of the best ways to solve such questions is to treat them as a story or something which is being 

communicated to others. You will realize what comes first and the next as well 

 

FIILING THE PARENTHESIS 
Direction for questions 4 – 5: For the following questions, select the option that best replaces the parenthesis 

in the given paragraph. 

To answer questions such as “Select the option that best replaces the parenthesis in the given paragraph”, 

check the tone of the passage. If it starts with positive note and towards the end the theme  remains 

unchanged, look for the option that is positive. Starting with positive ends negative, choose the option that is 

a contrast. Here are some examples for your practice. 

 

4. Addressing media persons here, he said that the obstacles often highlighted for lack of growth in trade 

 are not strong enough to justify the lack of initiative. To support his argument, he cited the example of 

China which now has booming  trade with Brazil (.) even though the language problem and distance 

factor applies equally to the Chinese also, Mr. Scares noted. Calling for steps to boost trade and 

business ties, the ambassador said that Brazil was keen to forge strong links with Asia.  
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 (1)   China does not want to encourage relations with Brazil. 

  (2)  Brazil is not willing to enter into a trade agreement with China. 

  (3)   China and Brazil are based on the same ground of cultural ethos. 

  (4)   China and Brazil are even building a satellite jointly. 

Sol. Options (1) & (2) are against the flow of the passage; (3) speaks of a common problem; whereas the 

passage is based on upcoming relations between China and Brazil. Hence (4) is the correct option. 

 

5.  After all, the strategic $40 million deal with Parle Exports has given the company instant ownership 

of the nation's top soft drink brands like ThumsUp, Limca, Citra, Gold Spot and Maaza and also 

access to Parley’s extensive 54 plant bottling network and a base for the rapid introduction of the 

company’s international brands(.) And the recent decision of Ramesh Chauhan to sell out his bottling 

operations to Coke was all but a boost to the multinational's operations in India. 

 (1)  The Thums Up plant however is not very lucrative. 

 (2)   But the competition in the soft drink industry is cut throat. 

 (3)   The network of independently owned bottles was and is India's largest soft drink bottling  

  system. 

 (4)   Pepsi is arch rival for Coke. 

Sol. The passage speaks of the positive aspects. Option (1) & (2) are negative choices. Competition is 

nowhere mentioned. Hence (3) is the best choice. 

The above mentioned can be easily done by the process of elimination. When two choices are very close 

negate the one that repeats the statement as given in the passage or gives half the information. 

  

CONCLUDING ASSERTION 
To solve “Concluding assertion, support, irrelevant and counter argument questions” the best strategy is to 

go via options.  Here is an example. 

 

6.   A. The lion depends on stealth rather than speed to catch the prey. 

B. A lion cannot maintain a high speed for longer durations. 

C. All the prey species can easily outrun the massive lion. 

D. The jungle has its own rules. 

 (1) BADC        (2) CBAD         (3) BABC         (4) ABCD 

Sol. Its is very much clear that statement D is not at all related with the argument and that negates 

 options (2) & (3), the choice is between (1) & (2). Next clue is statement A & C both supporting B, hence 

 option (3) is the answer. 
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WORD USAGE 
Directions for question 7: The question consists of a CAPITALISED word followed by four possible 

illustrations of the meaning. Choose the one, which is the most suitable illustration. 

 

7.  ADJUDICATION 

  (1)  People voicing uncalled for suggestions regarding the way a company is to be run. 

 (2)  A man strongly advocating the malfeasance administered during school days. 

 (3)  An umpire deciding the proceedings in a cricket match. 

 (4)  An autocrat dictating his terms in an authoritarian regime. 

Sol. Answer: (3)  

 

For such questions you need to understand the usage of the word given. Words can be used in many 

ways. At times all four seem to be correct. The best way to solve is to be aware of the dictionary 

meaning and also synonyms   

 

Direction for question 8:  Find the statement where the given word hasn’t been used correctly. 

8. ABSENT 

  (1) Absenteeism is a problem at some schools. 

  (2) His absentist nature showed that he wasn’t taking in the news. 

  (3) Why did you absent yourself from the vital meeting? 

  (4) His absence is due to illness. 

Sol. Answer: (2) 

Absenteeism and absentist, the two words given are language traps. The word absentist is a created 

word and has nothing to do with usage or dictionary meaning.  

 


